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These curves are called the
characteristics

of the given
PDE
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How do we communicate
curves in

3 -space?

We use vector valued functions :
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I imagine I can
solve this system



I get solutions which depend
on two independent variables : s gud }

fzfls.ir?1YG33ZG3D
surface , this the graph of

uCx,y,
you- might

To find a formula for z -- uCx ,y, we have
to eliminate s i3 . his can be tricky .

Think of the unitsphere . y,



Here I explained how I write script u , it in ie, like
in unit sphere .

I differentiate it from
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ye a long
tail . In LaTeX G is Then , O is-nu , 3 is Xi .
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From these equations , and with cosy
> o
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to solve xjq.EE?nqOforubfeinnfmfors of¥hEdprz
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Now example :Transport Equation:
•Ux kit) t MIXit) = 0

aEIR=#
theVector field is Laa, 1, O> .

the initial condition f¥µ
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